## Another Factoring Worksheet

Friday, February 24, 2017 11:22 AM

Unit 2 - Trigonometry Page 1
$\qquad$ Date: $\qquad$ Block: $\qquad$

## Worksheet Factoring Trinomials

Factor the following completely. Look for a GCF first.

1. $x^{2}+13 x-30$
2. $x^{2}-5 x-24$
3. $x^{2}+5 x-36$
4. $x^{2}+15 x+56$
5. $x^{2}+15 x+54$
6. $x^{2}-8 x-20$
7. $x^{2}+4 x-32$
8. $x^{2}-x-20$
9. $x^{2}+11 x+30$
10. $x^{2}+14 x+49$
11. $x^{2}+10 x+16$
12. $x^{2}+3 x+2$
13. $x^{2}+15 x+44$
14. $x^{2}+6 x+5$
15. $2 x^{2}+20 x+32$
16. $3 x^{2}-15 x+18$
17. $2 x^{2}+8 x-24$
18. $2 x^{2}+16 x-32$

Name:
Date: $\qquad$ Block: $\qquad$
21. $3 x^{2}+7 x+2$
22. $2 x^{2}+5 x+3$
23. $3 x^{2}-16 x+5$
24. $7 x^{2}-9 x+2$
25. $6 x^{2}+5 x+1$
26. $8 x^{2}-9 x+1$
27. $10 x^{2}+17 x+3$
28. $9 x^{2}-9 x+2$
29. $5 x^{2}+11 x+6$
30. $3 x^{2}+2 x-1$
31. $5 x^{2}-4 x-1$
32. $2 x^{2}+5 x-3$
33. $7 x^{2}-13 x-2$
34. $3 x^{2}+14 x-5$
35. $4 x^{2}-11 x+7$

Name:
 Block: $\qquad$

## Worksheet Factoring Trinomials

## Factor the following completely. Look for aCF irst.

1. $x^{2}+13 x-30$
2. $x^{2}-5 x-24$
$=x^{2}+15 x-2 x-30$
$=x(x+15)-2(x+15)$
$=(x+15)(x-2)$

$$
\begin{aligned}
& A C=-24=x^{2}-8 x+3 x-24 \\
& P=-24 \\
& s=-5=x(x-8)+3(x-8) \\
&-8,3=(x-8)(x+3)
\end{aligned}
$$

$$
\begin{array}{ll} 
& \text { 3. }
\end{array} x^{2}+5 x-36
$$

4. $x^{2}+15 x+56$
5. $x^{2}+15 x+54$
6. $x^{2}-8 x-20$
$A C=56$
$=x^{2}+8 x+7 x+56$
$A C=54$
$=x^{2}+9 x+6 x+54$
$A C=-20$

$$
\begin{aligned}
= & x(x+9)+6(x+7) \\
& =(x+9)(x+6)
\end{aligned}
$$

$$
\begin{aligned}
& =x^{2}-10 x+2 x-20 \\
& =x(x-10)+2(x-10) \\
& =(x-10)(x+2)
\end{aligned}
$$

$$
\begin{array}{ll}
P=-20 & =x(x-10)+2(x-10) \\
S=-8 & (x+2)
\end{array}
$$

$$
\begin{gathered}
s=-8 \\
-10,2
\end{gathered}
$$

7. $x^{2}+4 x-32$
$A C=-32=x^{2}+8 x-4 x-32$
$A C=-20$
8. $x^{2}-x-20$
$p=-32$
$s=4=x(x+8)-4(x+8)$
$=(x+8)(x-4)$
9. $x^{2}+14 x+49$
$A C=49$
$P=49$
$S=14$
7,7

$$
\begin{align*}
& =x^{2}+7 x+7 x+49 \\
& =x(x+7)+7(x+7) \\
& =(x+7)(x+7) \\
& =(x+7)^{2}
\end{align*}
$$

11. $x^{2}+10 x+16$
$A C=16=x^{2}+2 x+8 x+16$
$p=16$
$s=10=x(x+2)+8(x+2)$
$s=10=x(x+2)=(x+2)(x+8)$
12. $x^{2}+6 x+5$
$A C=5=x^{2}+5 x+1 x+5$ $\begin{aligned} & P=5 \\ & 5=6\end{aligned}=x(x+5)+1(x+5)$ $5,1=(x+5)(x+1)$
13. $2 x^{2}+8 x-24$
$=2\left(x^{2}+4 x-12\right)$
$A C=6 \quad=3\left(x^{2}-2 x-3 x+6\right)$

## 18. $3 x^{2}-15 x+18$ <br> $=3\left(x^{2}-5 x+6\right)$

$P=6=3[x(x-2)-3(x-2)]$
$s=-5$
$=3(x-2)(x-3)$
$A C=-12=2\left(x^{2}+6 x-2 x-12\right)$
$\begin{aligned} & P=-12 \\ & s=4\end{aligned}=2[x(x+6)-2(x+4]$
$(6,-2)=2(x-2)(x+6)$
12. $x^{2}+3 x+2$
$A C=2$
$=x^{2}+2 x+1 x+2$
$p=2 \quad=x(x+2)+1(x+2)$
$S=3 \quad=(x+2)(x+1)$
2,1
9. $x^{2}+11 x+30$
$A C=30=x^{2}+5 x+C x+30$
$P=30=x(x+5)+6(x+5)$
$S=11=x+20$
(5,6) $=(x+5)(x+6)$
16. $2 x^{2}+20 x+32$
all are divisith by 2 fantor
2 out -rivst. We call this the
GCF.
2 out first. We chl
$=2\left(x^{2}+10 x+16\right) \leftarrow \begin{gathered}\text { whech } \\ \text { arredy }\end{gathered}$
$=2(x+2)(x+8)$ facturel
$=2(x+2)(x+8)$
factured
in
in
20. $2 x^{2}+16 x-32$

$S=8$
$\left.\begin{array}{l}1,16 \\ 2,8 \\ 4,4\end{array}\right\}$ none work! $\begin{aligned} & 4+4=8, \text { but } \\ & 4 \times 4 \neq-16\end{aligned}$

Name: Date: $\qquad$ Block: $\qquad$
21. $3 x^{2}+7 x+2$
$A C=6=3 x^{2}+6 x+1 x+2$
$p=6=3 x(x+2)+1(x+2)$
$s=-7$
$S=7$
(6,1) $=(x+2)(3 x+1)$
22. $2 x^{2}+5 x+3$
23. $3 x^{2}-16 x+5$
$A C=6 \quad=2 x^{2}+2 x+3 x+3$
$\begin{array}{ll}A=6 & -2 x^{2}+2 x+3 x+3 \\ s=5 & =2 x(x+1)+3(x+1)\end{array}$
$s=5=2 x(x+1)+3(x+1)$
$2,3=(x+1)(2 x+3)$
$A C=15=3 x^{2}-15 x-1 x+5$
$P=15=3 x(x-5)-1(x-5)$
$\begin{aligned} & s=-16 \\ & -15,-1\end{aligned}=(x-5)(3 x-1)$
24. $7 x^{2}-9 x+2$
$A C=14$
$p=14$ $=7 x^{2}-7 x-2 x+2$
$=7 x(x-1)-2(x-1)$
$=(x-1)(7 x-2)$
25. $6 x^{2}+5 x+1$
26. $8 x^{2}-9 x+1$
$A C=6=6 x^{2}+2 x+3 x+1$
$\begin{array}{ll}A C=6 & -6 x+2 x+3 x+1(3 x+1) \\ P=6 & =2 x(3 x+1)+1(3 x+1) \\ s=5 & \end{array}$
$\begin{aligned} & s=5 \\ & 2,3\end{aligned}=(3 x+1)(2 x+1)$
$A C=8=8 x^{2}-8 x-1 x+1$
$P=8=8 x(x-1)-1(x-1)$
$\begin{aligned} & s=-9 \\ & -8,-1\end{aligned}=(x-1)(8 x-1)$
27. $10 x^{2}+17 x+3$
$A C=30$
$10 x^{2}+15 x+2 x+3$
$s=17=5 x(2 x+3)+1(2 x+3), ~$
$=(2 x+3)(5 x+1)$
15,2
28. $9 x^{2}-9 x+2$
$A C=18 \quad=9 x^{2}-6 x-3 x+2$
$P=18=3 x(3 x-2)-1(3 x-2)$
$\begin{aligned} x=-18 & =3 x(3 x-2)-1(3 x-2) \\ & =(3 x-2)(3 x-1)\end{aligned}$
29. $5 x^{2}+11 x+6$
30. $3 x^{2}+2 x-1$
$A C=-3=3 x^{2}+3 x-1 x-1$
$P=-3=3 x(x+1)-1(x+1)$
$S=2=3 x$
(3,-1) $=(x+1)(3 x-1)$
31. $5 x^{2}-4 x-1$
$A C=-5=5 x^{2}-5 x+1 x-1$
$\begin{aligned} & P=-5 \\ & s=-4\end{aligned}=5 x(x-1)+1(x-1)$
$=(x-1)(5 x+1)$
32. $2 x^{2}+5 x-3$
$A C=-6=2 x^{2}+6 x-1 x-3$
$P=-6=2 x(x+3)-1(x+3)$
$s=5=(x+3)(2 x-1)$
$6,-1)$
33. $7 x^{2}-13 x-2$
$s=-13=7 x(x-2)+1(x-2)$
$=(x-2)(7 x+1)$
34. $3 x^{2}+14 x-5$
$A C=-15=3 x^{2}+15 x-1 x-5$
$P=-15=3 x(x+5)-1(x+5)$
$5=14=(x+5)(3 x-1)$
35. $4 x^{2}-11 x+7$
$A C=28=4 x^{2}-4 x-7 x+7$
$P=28=4 x(x-1)-7(x-1)$
$\frac{s=-11}{-4,-7}=(x-1)(4 x-7)$
$\begin{aligned} A C & =-14=7 x^{2}-14 x+1 x-2 \\ P & =-14\end{aligned}$

